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srsfiisferesraer /Instructions to the Candidates

1. 3T & @RI 99 HAET # Tdd e 10 3ifer-amgeT $eT & HUR W 39 H fof@a olem &
T mfya frar arm 81 2l aneet 39 o RR guer B aed wfafse 6 & ar e &
AR IR Aedr AL W 8 at aehl 3eafiar sredishd oY & Sresh|

You have been called for the written test based on the online data furnished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2, ma-w,somﬁ#gmma-gm%mﬁ%mqﬁmﬁmozri%"%|

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3, IR faredt aRa aegfss TER & weat gl et & R v srfiew w9 & @gr gom |

The questions will be objective type with four options out of which only one will be unambiguously correct.

4, Yl 9 HfaT 04 37w ghr 3R 9As srad 3ol Ffelw T 3@ HIer AT |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. WRAl & 3ok & & fAT q@d ufd AR 3reRT MNTANR SccR-gRder & S
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. 3T F, IecR-geaw F U aw el & FqER, Aefvaeh | & ald uge 9 @
HTHANR SeeR-IRee # Hafa e $ 3ifFa F TE 3cal F TA HE

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

7 TH 93 & QT 39 3ca] ITad AT SATm]

Multiple answers for a question wili be regarded as wrong answer.
P00



10.

1.

12

13.

14,

15.

SR e Pt AR uA-gRdwr AU HI5 . SNCHANR. Seax gRedel WS e
WR_fergar a1fgel

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the

space provided.

RT-GREART 3 AT &7 AH T I T ]

Enter your Name and Roll Number correctly in the question booklet.

mmw-gmﬁuﬁqﬁﬁmﬁmwaﬁﬁamﬁaﬁﬁaﬁ
ST =g w)

All entries in the OMR answer sheet should be with blue/black ball point pen only.

afieT gfer & et Fr IuRAfT # & 39 A glo-Rehe I gEAER S A1R|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

TR1 T 1 R R L A B e M e o e 1 TS o W L e M 2| K o B G 1 G
5 P Rt A A 1 T e S P s M AR L

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall.

g gl B X MANR_ Ieal-9ffdd Hf IW & deef fed § G AR AL
TR FecR-gieae forliers # dlY qur ggdl 9fd 39 & 919 16|

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

TR 3t e I W Fehel

The question booklet can be retained by the candidates.

qﬂw%méﬁ%dﬁmmﬁﬁﬁqﬁmﬁamﬁaﬂnﬁaﬁ%l

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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TN A - T T (TREY THeE-Ug . 1347 & 1378/POST NOS. 1347 & 1378)
TECHNICIAN B - CHEMICAL OPERATOR (ATTENDANT OPERATOR)

STeT Y HOREAT T HH HT AT Gelel & ToIT Ggad gfshar
Term for reducing or removing the hardness of the water
(a) <ee=I/Purification

(b) FGeeI/Softening
(¢) TAFeA/Clarification

(d) 39dFd # & IS A None of the above

3mge s T & qesies & e yged 3

Acid used for regeneration of the ion exchange

(a) FeRIRF 3rFa/Sulphuric acid (b)  HIEHIRe 3Fe/Phosphoric acid

(c) 3ffFafad 3Fa/Oxalic acid (d)  WITH® 31Fc/Formic acid

TR ST @ aahee @ &gl ST &l

Demineralization of brackish water is called as

(a) =T fAEdEA/Nano filtration (b)  3mae fafsi#I/lon exchange

(c) fae@uA/Desalination (d) 39dFa FF IS o A None of the above

3T arsue g9 & Rues & e 3T F Aw Aedare s
PPE to be used while handling toxic vapourizing liquid
(a) 3T AFE/Gas mask (b)  aTSY FehTa/Vapour mask

(c) StF arsT sewE/Organic vapour mask (d) ele F%E/Face mask

faega 3 % fav gt srieAHfTTHS
Which is the most efficient extinguisher for the electric fire?

(a) STol/Water (b) e SE3TFAES/CO;

(c) Wei/Foam (d)  ¥d/Sand

et 7 ufed AT A & efier aeffeper fomam arm &

Fire occurred in the metals is classified under

(@) UTA (b) <UB (c) ¥C (d 3D

3 1347 & 1378



10.

11.

12.

RimfYt, AvTA N, e, RO U w67 a3 § g9 g TIFT SEArA

Gloves which are used to protect agamst sparks, moderate heat, blows, chips and rough objects?
(3) I g&darET/Cotton gloves (b) THGEAE/Leather gloves

(c) VA exaril/Aluminized gloves (@) 3'Cl’éi'q'—_d’ T3f/All the above

31757 FYhioT & 319ara/Elements of the fire triangle

(a) e, 3ifereiior, Usaee Ad/Fuel, oxygen, ignition source

(b) S, 3ferdiaie, ATHS/Fuel, oxygen, extinguisher

(c) &ee, eMHe, Yodacsl Ald/Fuel, extinguisher, ignition source

(d) 3RS, AT, TodelsT Hid/Oxygen, extinguisher, ignition source

Teat & @ X OT a1 AT F e gann erdl & e & wheA
Process of bonding materials by melting a filler metal or alloy between the components

(a) afesa/Welding (b) dres¥e/Soldering
(c) «TeA/Brazing (d)  #MeIsT/Machining

mﬁ%wmﬁﬁq@aﬁmwwﬁﬁtﬂwmmﬁ
Which type of rivet is used where there is only access to one side of the work?

(@) T&g Rae/Pop rivet (b) TAT ¥ RRde/Snap head rivet
(c) wfasssr Rae/Countersunk rivet (d) e Y Rde/Flat head rivet

TE SRR B dae g9 @ W A a9 AR g F A F qet A Sigr S g
e gl

Process in which ] ]ommg of parts takes place by apphca’non of pressure alone or a combination of
heat and pressure is called as

(@) TrereT afege/Fusion welding

(b) SrE-3/aFAT afegar/Solid-state welding

(c) sl faoTgst afesa/Electron beam welding
(d) o faorgst afesar/Laser beam welding

ﬂ@ﬁ@&!ﬁaﬁ%‘w%mﬂa—ﬁrﬂﬁmmaﬁ%mmﬁ?
Gas which is not used during the Gas-Metal Arc welding

(a) 3meTe/Argon (b) EifdgdA/Helium
(c) hIee ST33TEFATES/Carbon dioxide (d) g=ss=/Hydrogen
4 1347 & 1378



13.

14.

15.

16.

17.

18.

m%mmm?maﬁm%ﬁaﬁmﬁm,w,ma@ﬁwwm
& IchIOTT AT FIeat & AT Tgod 3THOT gl

Tool used for carving or cutting a hard material such as wood, stone, or metal by hand, struck with a

mallet, or mechanical power

(a) gYie/Hammer (b)  @gr-3m{/Hacksaw
(c) &<il/Chisel (d) YdiFile

&ge &l 3cdla/Product of combustion

(a) dr9/Heat (b) TEeII/Electricity

() STd/Water (d)  FTe=T/Carbon

HIRSHd ad &l & ® A gefichc fohar ama 2/Crude oil is classified as
(a) e §¥=/Derived fuel (b)  STATHF S4=T/Primary fuel

(c) efaciae uel/Secondary fuel (d) A SuUe/Artificial fuel

SN AW & Aded F4T §2/What is meant by calorific value?
(a) CTIHTT I Ueh 33l o= & foT Sl ama

Heat required to raise the temperature by one degree
(b) EOTageT & forw 3rafara Fef sifereiiert
Total oxygen required to supply for the complete combustion
(c) et ol Ueh Afeie GodaTeT o1 o7 & J Z¢ Il ¢ ol Ferel §U a1 hi ol AT
Total quantity of heat liberated, when a unit mass of the fuel is burnt completely
(d) SEa AR ofr ey

None of the above

#r 3ufufa & HROT Terdisl #F i g g
Odour in the LPG is due to the presence of

(a) Woamglal/Alcohol (b) =g&I/Butane

() Wd=I/Propane (d)  #AHedE/Mercaptans

URT Gelcd Fl e ¥/Unit of current density

(@ A (b) A/m’ (c)  Fam/Coulomb (d) ¥RTS/Faraday

5 1347 & 1378



18.

20.

21.

22,

23.

24,

23.

HEFT FoIFelal & JaTE A Fgd o/Flow of free electron is termed as

(a) degasigaes/Eleterolysis (b)  dieedl/Voltage

(c) Yral/Power | (d) ©RI/Current

faegd Qs T 3eTeIT &/Example for electric insulator

(a) STel/Water (b) 9&ER/PVC

(c) eigl/Iron (d)  dmET/Copper

TATET el g/Elastomer is

(a) WTehicish Te3/Natural rubber (b)  HiRerseyas/Synthetic rubber

(¢) TUsdlsh/Monomer (d) GHATEII/Isomer

Y68 doshalleiol & foIT gged AT 2/Additives used for rubber vulcanization
(a) He®I/Sulphur (b)  amET/Copper

(c) dAf3TA/Vanadium (d) celfesd/Platinum

STHTT (dGYcTargen def) F A ¥/Unit of EMF (Electro Motive Force)
(a) drc/Watt (b)  UFIIT/Ampere

(c) dlec/Volt (d) S&/Joule

NA & WIH F AR /As per Ohm’s law

(a) dreedr 3R URT HAFATICT T

Voltage and Current are directly proportional
(b) drecar 3R gREfAEEATEIT ¢

Voltage and Current are inversely proportional
(¢) ufaRer 3R g WA &

Resistance and Current are inversely proportional
(d) areear 3R wfeRier TfaeATTaT &

Voltage and Resistance are inversely proportional

gfarer 5, 153&T203ﬂw$vﬁﬁaww%l§ﬁuﬁwm%?
Resistances 5, 15 and 20 ohm are connected in series. What is the total resistance?
(@ 20 3A/ohm (b) 3.183A/ohm (¢) 5 3i#H/ohm (d) 40 3FA/ohm

6 1347 & 1378



26.

27

28.

29,

30.

ot

T el Al & U S O §1 95 409 el 1 9Tr & 3N 3Hh g 3080
42089 ST §| Hord: 3HE 9 fhde @ A2
A fruit seller had some apples. He sells 40 % apples and still has 420 apples left. Originally how

many apples he had?
(a) 280 (b) 780 (c) 560 (d 700

100 200 & 7% il FgIOTH (FCITeT) 872
Number of multiples of 7 between 100 and 200 is

(a 13 (b) 12 (c) 14 (d 15
faega JTAAF qUT Foll TLETOT &Y carT gRena foRar aw Bl
Conservation of electric charge and energy are defined by

(a) fo@®s fa#A/Kirchhoff’s law (b) 3 FATH/Ohm’s law

(c) wafde AFA/Flemming’s law (d) W2 AgHA/Faraday’s law
183 & HA g/1 Faraday is equal to

(a) 96.50 FHelA/Coulomb (b) 9650 &eliA/Coulomb

(c) 96500 Eﬁ?«l\ﬁ?/Coulomb _ (d) 965000 Et"\m}ﬁ!:r/Coulomb
¥ & gUF SggasIueATgd & TR

As per Faraday’s first law of electrolysis
(a) uRaEfe 3ATHTH TR & FTHARTI |

Reactant converted is directly proportional to the current
(b) uRafda 3R dlecdr & Fgwhatara ¢l

Reactant converted is directly proportional to the voltage
(c) uRafda 3@fEas dieear & ITAaARI ¢

Reactant converted is inversely proportional to the voltage
(@) 3o A oA |

None of the above

deIANTUCAH U FoATEIS B FET STl B
In electrolysis, positive electrode is called
(a) @HAUB/Cathode (b) U=AIS/Anode
(c) 3RE/Diode (d) 39 # 4 F1S G/ None of the above
7 1347 & 1378



2.

3.3.

34.

3B.

36.

. 7

38.

THT B SR A agerel & forT gged 3T
Equipment used for converting AC into DC

(a) REHIAY Transformer (b) TfSEeYTransistor

(c) @uTRA/Capacitor (d) fescwrli/Rectifier

gal  FATEROT WEROT: gary s fRar S B

Heat transfer in the liquids is generally accomplished by

(a) dreed/Conduction (b) "agal/Convection

(c) TafeoT/Radiation (d)  3mFeT/lonization

FSAT & ATeT & TaTd I AU gl

Property of the material to conduct the heat is

(a) faERorefed@/Diffusivity (b)  FSHI Arefehdl/ Thermal conductivity
(c) Tafrse FAT/Specific heat (d) u=edi/Enthalpy

T SRiTRIET F aegEt & AT FH W F AU ggFd s gl
Material used to reduce the overheating of contents in the chemical laboratory

(a) UYfereT aréel @s/Porcelain tile piece  (b)  3TATE F/Flux column
(c) aafels/Vaseline (d) Suftest AlA/Paraffin wax

BIESIIeT Sl 3cUgst, T [l IEr ¥ G @ gl
Branch of chemistry deals with the production of Hydrocarbons
(a) 2SR W/Analytical Chemistry ~ (b)  #ifeh Taei/Physical Chemistry

() 3f® Wrge/Inorganic Chemistry  (d)  @iafeteh T1/Organic Chemistry

WANUTS gedHAd T el £/Atomic mass is the summation of
(a) Weie a 7ggial/Proton and Neutron (b) Wi T 3eigeie/Proton and Electron
(c) Sorrgls @ #ggisi/Electron and Neutron  (d) golFeleT g Wwicid/Electron and Photon

HFT-ETR 3ETEIEOT & 3c9re/Product of the Acid-Base neutralization

(a) Fa/Carbon (b) AAFE/Salt
(c) 3irerETST=/Oxygen (d) Tseisl/Nitrogen
3 1347 & 1378



39.

40.

41.

42.

43.

44,

ATH3IO] I 34T g/Mole is the ratio of

(a) A dYT 3Uaed AR/ Weight to Molecular weight
(b) 3MfUge SR TUT HAR/Molecular weight to Weight
(c) 37O IR TAUT Jodihl YMolecular weight to Equivalent Weight

(d) Teurehr 7R T 37109 AR/Equivalent Weight to Molecular weight

T X fore & faegare 9e Aot 1 & &1 ... $gd &

Number of moles of solute present in one litre of solution is called

(@) T/ Normality (b)  ITHATGI/Molality
(¢) AAITRATVMolarity (d)  THAT 31/ Mole fraction
HETROT —g/Corrosion is

(a) <EgHIUT/Reduction

(b) ATSCIHRIUT/Nitration
(©) TERRI/ Sulphonation

G Wmﬁlecﬁochemical oxidation

FETRORIE & faw qgercd GEGIED g/Technique used to prevent corrosion

(a) TASHIA/Galvanizing (b)  IeehelihoT/Vulcanizing

(c) Ya=/Filing (d) 39 F A FS o 75/None of the above

elegel &1 gaA/Formula for Toluene

() CsH;CH (b) CeHe ©) CeHsCHs d) CeH;OH
tfothfesh gTgiee &l 3ETgoT g/Example for Aliphatic hydrocarbon
(@) FIA/Methane (b)  d=aiEel/Benzene
(©) ®@te/Phenol ) ETEVINT
9 1347 & 1378



45.

46.

47.

48.

49.

pH, U faeraer & 3T HIGOT & AT g

pH 1s the measure of ion concentration in a solution

(a) @Esia=i/Hydrogen (b)  gssigga/Hydroxyl
(c) FrEiaFga/Carboxyl (d)  Hewi=e/Sulphonic
TTeThal Hiel § goFers q =T g3 gl

Electrode in the conductivity meter is made up of

(a) ®faf3ga/Rubidium (b) YAfEZA/Palladium
(c) vwetfesT /Platinum (d) ecAgHA/Titanium
THAUHSITH & Acdold §/MSDS stands for

(a) Yard AiredR faaxor e
Material Software Details Sheet
(b) Yerd EEser e
Material Safety Data Sheet
(c) ueTd ageT aur 3fAFeqs efic
Material Selection & Design Sheet
(d) T fafadere T 3mgor efie

Material Specifications & Drawings Sheet

U gd U HT STl YN gl &l ~AdH dTqaTe gl
Minimum temperature at which a liquid fuel starts burning
(a) ¥Pi/Flash point (b) Sad=TF/Fire point

(c) Y=/ Boiling point d) aETeiEarCombustibility

O G HAT & SR T U TgAT ST =T
Safety belts are to be worn during the jobs related with
(a) TarfA® YgTd«l/Chemical handling

(b) AT Welding
(c) 3= Fumg/High elevation
(d 3“1‘{1}% @#1/All the above mentioned

10
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50.

51.

52.

53.

54.

59.

56.

fadel 3 @ Farad TEg wed garer fidig wie @ g7
Which is the most effective PPE while handling the toxic gases?
(a) O AFTE/Particulate mask (b) TEERUSCBA

(c) THEEIT/SBCA (d) e gRIETH/Face shield

8 ufdera ex uT 2 auf & v Rs 1500 & EIROT ATl : gl

Simple interest for Rs 1500 for 2 years at the rate of 8% is
(a) Rs.120 (b) Rs.300 (c) Rs.256 (d) Rs.240

4.41 FT FHA &/Square root of 4.41 is

(a) 2.1 (b) 21 © 021 @ 11

T I & 56 W, T I SEwe W dead o Seare de @ wEd €l
Force applied perpehdicular to the surface of an object per unit area is called

(a) ¥dI/Momentum (b)  a@XUT/Acceleration

(c) aIs/Pressure (d) «I=AAr/Viscosity

Frafaf@a fawedt # 38 3@aa AFeT I vea 58 g@dl & a1y SisT =l &1 Jehell

Out of the following options, identify the irrelevant option which cannot be connected with others

(@) 3IREB/RTD (b) Sl Ael/Bourdon tube
(¢) deIue yAT/Diaphragm gauge (d)  argETEATd/Barometer
dT9gTH &l Fagid &/Principle of thermocouple

(a) Ufecax werma/Peltier effect (b) e yaTa/Seebeck effect
(c) 3Ef=aw fAgida/Arhenius theory (d) g FFHA/Newton’s law
dA9HAT T TH3ATS qﬁ'd' ©/SI unit for temperature

(@) Ffeast/Kelvin (b) afeagd/Celsius

(c) WRegTge/Fahrenheit (d  Yf=we/Rankine

11 1347 & 1378



57.

58.

59.

60.

61.

62.

63.

Teh IR AT & 31758 & ale.../Pressure at the downstream of an orifice meter will

(a) &¢dM/Increase (b)  =IM/Decrease

(c) HAT WRM/Equal (d) i) @M/ Zero

aﬁoﬂ?ﬂ'@f & g HT F gl ST &/Centre portion of a venture meter is called
(a) 3IITHERV/Convergent (b)  3OER/Divergent

(c) @ierR/Collar (d)  %a/Throat

TATS T g e Fid . TR & ggerd foRam ST &

Sight glass for level indication is widely used in

(a) Faf¥F/Boilers (b)  FF 3G TAH/Glass distillation columns
(c) &g® A/ Propellant mixers (d  99e/Grinders

eTRAr Ta¢ A9 Aegia T 3R B

Principle of capacitive level measurement is based on
(a) - aRar ﬁ?_iflﬂ'/Capacitance equilibrium  (b)  TEUX &T@T/Constant capacitance
(c) enfyar 7 gyR@de/Change of capacitance (d)  Jerle enfiar/Neutral capacitance

afrse aeeg &1 ?{\ﬁ’d’ ©/Unit of specific gravity
@ Ky’ ® gco
(c) kg/lit (d) Wﬂ‘ﬁ-r & § F13 37 s7E1/None of the above

faRise geicaest A o & AU ygeFT giFa &

Device used to measure the specific gravity

(a) ATYATR/Thermometer (b)  gEsATd/Hydrometer
(c) argETEATd/Barometer (d)  IcargATE/Pyrometer

TRRTOT YR TSI @Y AT 3T THET e g @ g Sueoil A it & e,
3TINETOT T |XETOT fohar STe §

Maintenance type in which equipments or facilities are inspected, maintained and protected before
break down or other problems occur

(@) wfgsgarer (Uf3ada)/Predictive (b) UurcAF (&) /Preventive
(c) fe (3reer3a)/Shutdown (d) TRET (F6sT3+7)/Breakdown
12 1347 & 1378



64.

65.

66.

67.

68.

oo fafea ursal & fov HuRer gear grafr

For thin walled pipes, Schedule number will be

(a) HA/Less (b) FIGI/High
(¢) TE/Constant (d) W Y=A/Absolute zero

TET HUA Ygariav/Identify the correct statement

() UISY & TUT higel GHIA g
Pipe bends and elbows are same
(b) IOT & T2 UTSYT 5 oI Elichstl gl SATAT & |
Pipe bend with 90° angle is called bellow
(c) W3 TS e Fgell Il & eXiohet el Slgeil 5o oTal gleil|
All pipe bends are elbows but not all elbows are bends
(d) @ RIEsT IS §F GBIl § oifehed oIl &k PIg= el gl

All elbows are pipe bends but not all bends are elbows

FSARIS & fovaerd st fRe T dee 9% & IRT AR 9 g, P ——— gl Al ¢
Material for thermal insulation especially around a cylindrical object is called

(2) UEITH/Lagging (b)  3EsIEs/Covering

(c) dresy/Solder (d) mﬁﬁﬂ-ﬂé 8T 761/ None of the above
T qerd I QA AT F SaRT HGT ST &

The insulating capability of a material is measured with

(@) H©elcd/Density (b)  FSHRI drefehar/Thermal conductivity

(c) AT/ Viscosity (d) IT3eH G&II/Reynolds number

I=Fel FFIAET & Torw fopar Smar §/Gaskets are used for

(a) ﬂﬁ"&"ﬂ YT F¥ei/Providing aesthetics

(b) WISt YHROT Uehal/Preventing flange expansion
(¢) &RoT Ueat/Preventing leak

(d) 39 Hel/All the above mentioned

13 1347 & 1378



69.

70.

Ll

22,

73.

74.

T HeTRe dal & fov 39gFd dase gl
Gaskets suitable for highly corrosive fluids

(a) I&3/Rubber (b) eI/ Teflon

(c) =TSgrSel/Nitrile (d) S9ETA/EPDM

T Y & &¢ &0 @Al & 91y &4 H Fed B

Nut with slots (rfotches) cut into one end is called as

(a) drel sic/Lock nut (b) 3R «¢/Sawn nut

(c) e dAc/Castle nut (d)  TFYer drelr 7¢/Spring lock nut

Wﬁﬁﬁﬁéﬁﬁ?ﬁgaﬁ?maﬁmﬁ?ﬁﬁ;@nﬁé‘raﬂaﬁwﬁﬁ%l

are a left hand helix and allow the thread to be tightened in a right hand direction
only, i.e. a clockwise direction

(a) T&SeT a12R/Spring washers (b) & 9t an/Toothed lock washer
(c) <37 AT/ Tag washers (d)  TEET AR/ Wave washers
g9 Ui & o= 3i=/3TE ST # yred gier &l

On/Off control without pressure drop is achieved in

(a) Y aTed/Needle valve (b) T area/Gate valve

(¢) fTadeliegar area/Butterfly valve (d) el area/Ball valve
I8, AN 9T H varg Hae H reT g gl

Flow regulation in large pipe diameters is achieved in

(a) @Y area/Needle valve (b) 9T ared/Gate valve

(c) focreliegaT area/Butterfly valve (d)  INTeHT ared/Ball valve
ISYIHIOT HT gRomH &/Evaporation results in

() Taergsr & e &1 @yt a2

Complete removal of solvent from a solution
(b) Tea= & Qe &1 ARE 3T

Partial removal of solvent from a solution
(c) faeraer & faer &1 Hol 3rvage

Complete removal of solute from a solution
(d) Toorae 3 faerT &1 3R 39e1a

Partial removal of solute from a solution

14 1347 & 1378



70.

76.

Lo

78.

oz

80.

3 & WP T &/Driving force for the distillation
(a) @GoTaY/Concentration difference (b) feATHAYFreezing point difference
(c) FFYATAY/Boiling point difference (d)  arera¥/Pressure difference

wmwﬁmwmwﬁymﬁmﬁmﬁw(ﬁwﬁmaﬂ
99 T alel P Garfed Fal gl

pump makes a fluid move by trapping a fixed amount and forcing (displacing)

that trapped volume into the discharge pipe
(a) 319hal/Centrifugal (b)  3H&f/Axial
(c) &7 fgwaTg=/Positive displacement (d) 3udFa & A aig o 7/ None of the above

3YHTHUT # gYaT 8/Priming occurs in
(a) 3m9ehgr 94/Centrifugal pump (b) ¥ 4u/Piston pump
() =X 99/Gear pump (d) dfeuc (samAre) gu/Diaphragm pump
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Which is the machine element that constrains relative motion to only the desired motion, and
reduces friction between moving parts?

(a) 3 ERT/Gasket (b)  dren/Locks
(¢) saRF/Bearing (d) EuedEI/ELCB
% FR9 Fhaler Uiy 58 & a7 & 9 W ¥ e wia dwvs F sEer afd ——F
A car moves with a speed of 9 km/hr, its speed in km/s is
(@ 512 (b) 9000 ()  1/400 @ 9
1,2,3, 4T 5@ "y fGges gl
The mean deviation of 1, 2,3,4 and 5 is
(@ 3 (b 0 ) 12 @ V2
15 1347 & 1378



